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int 1 1;
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int x = 0;
while( x <= 400 ){

line( x, @, x, 300 );
X =X + 10;
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—ellipse( x, 150, 50, 50 ); THZ%#<

>




#YEL THERCS
'C HoD EIAFAT AT REF

void setup(){
size( 400, 300 );
}

void draw(){
int x = 0;
while( x <= 400 ){
ellipse( x, 150, 50, 50 );
X = X + 50;
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void setup(){
size( 400, 400 );

void draw(){

background (255, 255, 255) ;
noFill();

int len = 0;
while( len <= 400 ){

ellipse( 200, 200, len, len );
len = len + 10;
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void setup(){
size(400,300);

}
void draw(){

background(255, 255, 255) ;

int x=1; HS « S

while( x < 200 IR skt Tk AN 4
line( x, @, x, 300 );
X = X + 50; . ~ —_
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int num=T1;

if( (12345 %
println(

b

num++;

if( (12345 %
println(
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num++;

if( (12345 %

println( : int num=1;
b while( num<=12345 ){

num++; l'F( (12345 % num) == 0 ){
if( (12345 % num) == @ ){ println( num );

println( num ); }
¥ num++;

num++;
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int num = 1;
int count = 9;
while( num<=12345 ){
if( (12345 % num) == @ ){
// 12345 numCE| >z R D M

// QIZ DT Scount&E BT
count++;
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num++;

)
println( "IEDMEBDE(L" + count );
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int x = 0;

while( x <= 400 ){ for( int x = 0; x<=400; x+=10 ){
line( x, 0, x, 300 ); line( x, @0, x, 300 );
X =X + 10; }
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int countHead
int countTail

for( int 1=0; 1<10000; 1i++ ){
if( (int)random(2) == 0 ){
countHead++;
} else {
countTail++;

3
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println( "D (L" + countHead );
println( "FRDOW(E" + countTail );
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